8 7 6 5 4 3 2 \ /

VIEW X
! SUPPORT REQUIRED (PAGE 2)
ANSTCHT X . — " " - ABSTUTZUNG ERFORDERLICH (BLATT 2)
2,54 '
) (( (>}
F \\ -
+ \\ 17 — — — —\— — — — — — — — — — — - —
SOCKET FOR WEADER 0,63x0,63 ——Tr— UNTERSEITE LESFR.
BUCHSENLEISTE FUR PRODUKT-NR,
PFOSTENVERBINDER 0,63x0,63 TAGESCODE / JAHR / FOLGENUMMER
9,0 BOTTOM SIDE READER:
[ PRODUCT NO.
O
09,8
45,1
E
6.3 92 0 40,3
31,90 3,0
>< - i | -
|| K\k 3 00,7 I > —
O U W1 THOUT COVER FOIL - i
o 0,30 DICK/THICK| | OHNE DECKFOLIE — ' T | }& -
| 6 } 18 o
1 ix\\ g///////
: = o ’@ N
1 - -
ﬁ“ 0 =
| C - u\ 8?:
] 29 | [ ‘ Lo ” de) L()“ Oﬂ
] L2 So Zg: - . < 1 B2 O: i o ©
] N‘ C6 +©‘ = O“ E E ‘ 0 (@N 0 | £ - ; :ﬁ
|| ' = - o i 0 0 . <
LS = —+ — ~ . — Q- 3
| 7 + D : ) / E*
S C4 Lot = T 5 ] S o
c% STIFFENING T | 8 -
|y C8  _| VERSTEIFUNG e 6 |
: i > X /] 2
SN
| < S = 1 o N i — ACTIVE POSITION
If | ] | i )\ LESESTELLUNG
2,8 7.0
| T \LNACTVE POSITION
1,5 349 53,0 23,1 F IN-/AUSGABESTELLUNG
0,9
COUNTERSINK FOR HEAD SCREW M2 iBE?SEEUEEQEREggDéELZ> L
CARD PRESENCE SWITCH AND LOCKING DETECTOR [N SERIES SENKUNG FUR™ SCHRAUBENKOPF M2 - (BL.2)
SCHALTER FUR KARTENANWESENHE T UND VERRTEGELUNG IN REIHE 0s
5 )
| \D\RECTON OF CARD INSERTION
N STECKRICHTUNG DER KARTE
\\
N Gewichi [errechnet]/ Calc WI: 9 | 2u1. Abw./Tolerances: afstab/ Scale : ' = F@)
C__ D PrifmaB/Testdimension % Mofstat/ Seate ]| (11) AL
Teileind
Weéjtﬁe/gfiba/50W/‘th5fv;‘e//)ft/7';t/‘gqn%fd/'esiff(f//);ef/age,r/I/ew%/ung Pf]lff?‘fllndezumbt?f DIN 6784 CUSTOMER DRAW | NG
A g/(jsdf(/'/ck?;‘cznzuéeg%ndgn_a ij{/)‘él;fhagss/(;ge; @eizv;ij'chnfé; . 604 Valun/Cote None PUSHMAT | C |_OW PROF | |_E
Sder Gabeaehams (o Eintagung vorena ten | lentertertong o |04 05 [Tl PUSHMATIC FLACHE BAUFORM
. , L 05 | 200700823 25.03.08|Tol . | Gepr. - 24 V without debri lot (with bott
Copying of this docurent ond glving it (0 others and the vse o1 ooroers—[16.0.07 Tal|cete ? 1 e bt pungesetonnt Lalt Bagha)
out express authority. Offenders are [iable to the payment of |03 | 200700011 16.10.07|Tol. Am heno l _TUChel Blatt/Sheel
damages. All rights are reserved in the event of the grant of |02 | 200400483 01.09.04[MM p . 1
a patent or the registration of the vtility model or design. 01 1 200200277 04 05 04 Tol Electr0n|CS GmbH M (:702 1OMOO8 903 4 7 Bl
8 Vs 6 5 4 [ndex Anderunq/ﬂe5[//p//op Datum/Date|Nome Ers. £./8imilar to:

o | ksdor f/25.03.2008



8 7 6 5 4 3 2
\
\
\
FASTENING REQUIREMENTS FOR PART NUMBER C/02 10M008 905 4:
MONTAGEVORSCHRIFT FUR BESTELLNUMMER C/702 10M008 903 4:
F AMPHENOL BEZEL AND FRAME (UPON REQUEST) — — —- F
AMPHENOL EINFUHRKRAGEN UND EINBAURAHMEN (AUF ANFRAGE) — — —-
OR |
ODER |
\
1 CUSTOMER BEZEL AND FIXING AS FOLLOWS: MINIMUM REQUIRED SUPPORT BY CUSTOMER TERMINAL e
KUNDEN EINFUHRKRAGEN UND BEFESTIGUNG WIE FOLGT: MINIMALE GERATESEITIGE ABSTUTZUNG CUT-0UT FOR AMPHENOL BEZEL AND FRAME
MONTAGEAUSSCHNITT FUR AMPHENOL
ADDITIONAL RECOMMENDED SUPPORT BY CUSTOMER TERMINAL EINFUHRKRAGEN UND E INBAURAHMEN
LUSATZLICH EMPFOHLENE GERATESEITTIGE ABSTUTZUNG
\
£ Fl
\
SUPPORT REQUIRED .
ABSTUTZUNG ERFORDERL.
OPENING FOR UNLOCKING DURING LOSS OF POWER
OF FNUNG FUR NOTENTRIEGELUNG BET STROMAUSFALL 40,3
[ |
. y \
/ E S =~ ‘
! » 7 HIN *
g |1 | T N ol
‘ | . ‘ : j:: 1 — ‘
/A 1 —~ 5 \
! I 2l 3 ‘
4l Jii{ily |~ \
B | 4 | R ‘ = ‘ T -
‘ i : ‘ I 1 ‘ ji I Egg
| 2 ~ —~ ~ \
| =) = S| SUPPORT FROM TOP AND BOTTOM . e - s =) o — ‘
. o S| © B3| ABSTUTZUNG VON OBEN UND UNTEN | —| 2 RIS I 2|3 ‘
f R s : i ) 2z - |
ga— \\ | = | | | \ ‘ ; |
] " - I [ \
T = \ i IR \
| = N i \
| NG ~.. e
|| | l | N almn —
05 LI | SN P S »
S | e NN N\ S — I I AN »
N T B AN\, S A 1o L Aoy
p L | ODER: 3x BOHRUNG FUR nor I | | 2,4 Z \-, &/§Z/l ] 5 ‘
N 7 GEWINDEFURCHENDE SCHRAUBE M2 M2 Rl \
— OR: 3x HOLES FOR THREAD - 14 ] \
ROLLING SCREW M2 ) 3W,Oi03 !
| 53 0+0,3 6,0 |
] 1
15,0 J_ 68,0
T
76,1 Gewichi [errechnet]/ Calc WI: 9 | 2u1. Abw./Tolerances: afstab/ Scale : X EF@)
C__ D PrifmaB/Tes tdimension % Mofstat/ Seate ]| (1 : 1) AL
Teileind
) Weéjtﬁe/gfiba/50W/‘th5fv;‘e//)ft/7';t/‘gqn%fd/'esiff(f/n;ef/age,r/VEfwiafung Pglffs'fllndei;umber DIN 6784 CUSTOMER DRAW | NG ) |
ousdriicklich zuge’s/and@n_ Z(/W/‘dcffhagd/ungen ’vefp///ch/en . 6934 DatunDote Nare PUSHMAT | C |_OW PROF | |_E ‘
St Gobtonehams (o1 Eintrogong. vordenal tent | o enterterIeng dom 0405 |10l PUSHMATIC FLACHE BAUFORM \
: . o 05 | 200700823 25.03.08[Tol . | Gepr. - 24 V without debris slot (with bott
P i, (e b L7 L) S it B i)
out express authority. enders are ligble to the payment o 10070l I Ampheno | -Tuche alt/Shee
damages. All rights are reserved in the event of the grant of |02 | 200400483 01.09. 04| MM p . pi
a patent or the registration of the vtility model or design. 01 1 200200277 04 05 04 Tol Elec t ronics GmbH M (:702 1 OMOO8 903 4 7 Bl ‘
8 Vs 6 5 4 [ndex Anderunq/[]eﬂ//‘/;//o/) Datum/Date|Nome Ers. £./8imilar to: ‘

o | ksdor f/25.03.2008



		2008-04-03T11:16:55+0200
	Ellen Kochendoerffer


		2008-04-03T11:26:50+0200
	Ellen Kochendoerffer




